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97 & 7 k| 12.0 31.8 35.6 20.5 (784)
98 F 1 k| 36.9 35.1 22.0 6.0 (579)
98 F 7 k| 53.4 275 15.2 3.8 (599)
99 F 1 k| 46.5 32.9 16.9 37 (574)
99 = 7 k] 45.4 30.0 23.7 0.8 (590)
00 & 1 k| 44.6 33.3 18.7 34 (561)
00 F 7 %] 52.2 33.7 12.1 2.0 (952)
01 1% 44.3 37.1 16.1 2.6 (784)
01 7 %] 42.3 40.0 16.3 1.4 (732)
02 & 1 k| 40.2 39.5 18.0 2.3 (706)
02 & 7 k| 49.9 36.1 12.6 1.4 (851)
03 & 1 k| 53.4 34.7 11.0 0.9 (799)
03 & 7 k| 60.0 29.8 9.2 1.0 (909)
04 & 1 k| 48.0 38.5 12.4 1.1 (735)
04 & 7 | 45.7 40.1 13.6 0.5 (740)
05 F 1 | 39.8 458 13.7 0.8 (747)
05 & 2 k| 38.9 46.1 14.1 0.8 (722)
05 & 3 | 21.6 52.0 24.1 2.3 (740)
05 F 4 k| 18.9 55.0 24.3 1.8 (757)
05 F 5 k| 18.2 55.0 25.4 1.4 (765)
05 F 6 k| 13.1 56.8 27.9 2.3 (613)
05 7 k| 10.2 54.2 335 2.1 (620)
05 F 8 k| 10.9 52.0 35.2 1.8 (667)
05 F 9 k| 8.2 57.4 33.2 1.2 (894)
05 = 10 %] 6.6 53.4 38.9 1.1 (877)
05 = 11 | 10.2 50.6 38.2 1.0 (930)
05 = 12 | 10.4 46.3 427 0.6 (847)
06 F 1 %] 9.7 48.6 41.2 0.5 (814)
06 &+ 2 %] 7.2 53.3 38.4 1.1 (803)
06 =+ 3 £] 6.9 53.4 39.3 0.5 (802)
06 F 4 £ 6.7 46.8 45.9 0.5 (773)
06 =+ 5 £| 7.8 49.1 42,5 0.6 (774)
06 = 6 %] 8.4 50.4 40.1 1.1 (813)
06 = 7 k| 11.5 52.4 35.4 0.7 (827)
06 = 8 k| 11.8 53.1 34.4 0.7 (857)
06 = 9 k| 9.8 52.1 37.3 0.7 (823)
06 = 10 %] 12.5 56.4 29.9 1.2 (802)
06 =& 11 | 14.0 56.5 28.3 1.2 (802)
06 = 12 k| 17.2 58.0 24.4 0.4 (779)
07 & 1 %] 17.8 58.4 22.9 0.9 (803)
07 & 2 | 14.0 53.4 30.9 1.7 (819)
07 & 3 | 11.9 51.1 36.1 1.0 (707)
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05 3 %] 69.0 (719)
05 & 4 F| 70.0 (750)
05 5 k| 70.1 (759)
05 & 6 £ 70.4 (597)
05 & 7 5| 70.2 (607)
05 8 k| 68.4 (664)
05 & 9 f| 67.8 (876)
05 & 10 *| 68.7 (869)
05 & 11 /| 67.4 (912)
05 & 12 F| 67.1 (831)
06 1 %] 68.8 (802)
06 & 2 /| 67.1 (796)
06 iF 3 7| 67.8 (793)
06 4 F] 68.9 (766)
06 & 5 k| 68.4 (769)
06 ¥ 6 *| 67.1 (807)
06 & 7 k| 66.4 (812)
06 & 8 /| 65.9 (852)
06 % 9 %] 66.6 (815)
06 # 10 /| 62.8 (783)
06 & 11 *| 63.6 (788)
06 F 12 7| 61.4 (768)
07 & 17| 61.1 (790)
07 & 2 F| 66.7 (802)
07 & 3 £ 68.5 (699)
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04 & 1 F| M - 56.9 (652) - -
04 & 7 F] - - 56.9 (678) - -
05 & 1 £ - - 57.4 (697) - -
05 ¥ 2 f] - - 58.9 (690) - -
05 ¥ 3 k] - - 63.6 (697) - -
05 & 4 k] - - 63.8 (709) - -
05 & 5 £] - - 64.0 (713) - -
057 6 %] -- - 64.7 (575) -- --
05 ¥ 7 f] - - 64.7 (583) - -
05 ¥ 8 k| 59.8 (319) 65.0 (636) - -
05 & 9 £ 59.8 (412) 63.0 (843) - -
05 10 %] 61.1 (552) 63.0 (825) - -
05 11 k| 60.9 (625) 62.2 (880) 66.0 (592)
05 F 12 %] 59.4 (645) 62.1 (788) 65.9 (556)
06 & 1 % 61.1 (593) 64.2 (763) 67.3 (576)
06 F 2 £ 59.2 (617) 63.6 (772) 65.4 (595)
06 = 3 £| 60.1 (582) 62.9 (765) 66.6 (594)
06 F 4 | 60.8 (551) 64.4 (735) 67.7 (562)
06 &+ 5 k| 59.3 (542) 63.7 (742) 66.5 (598)
06 & 6 *| 59.2 (625) 63.0 (777) 66.4 (638)
06 =+ 7 57.7 (597) 59.3 (783) 65.6 (665)
06 = 8 | 57.4 (597) 57.6 (817) 64.3 (665)
06 F 9 | 59.2 (542) 58.6 (772) 65.5 (596)
06 ¥ 10 *| 56.1 (527) 55.7 (750) 62.4 (621)
06 = 11 £] 56.8 (557) 57.6 (755) 63.2 (613)
06 F 12 %] 55.7 (549) 57.2 (751) 62.8 (620)
07 & 1 F| 55.0 (541) 58.2 (765) 62.9 (624)
07 & 2 £ 58.1 (696) 60.6 (793) 63.5 (698)
07 & 3 £ 58.9 (572) 65.3 (689) 65.9 (591)
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Froobs
%Trf;é@ 32.0
- £ 17.7
EENS 32.8
SRUHYE S Pyl 175
(x0T (710)
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Hete PSS
e 7.0 15.0
- Bl 48.9 34.3
e 317 36.7
SRUHPE = Vel 12.4 14.1
(Bt Ho) (710) (709)
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07 = 3 ] 07 &F 2 5|
ﬁ%@ EW TEE Vet WK T
TEEEZ 69.2 55.7 135 69.4 55.7 13.7
™ i (FiE s 67.9 56.4 11.5 66.2 57.1 9.1
r= fﬁEﬁ HF%E g 67.1 53.8 13.3 65.4 52.0 13.4
fa’sv?i,ﬁ PR A 68.7 52.8 15.9 66.6 48.6 18.0
I R N A 62.1 62.5 0.4 59.9 60.6 0.7
PRSI A 60.2 64.1 -3.9 57.5 61.7 -4.2
P2 72.9 67.6 5.3 71.6 67.2 4.4
r Fﬂ—ifa'l%al EREST 64.5 64.4 0.1 62.0 57.5 45
Ty ”’Fﬁ'ﬁ%ﬁiﬁ%‘ﬂ# Iy 66.1 57.9 8.2 64.0 53.9 10.1
P2 f] pE 2 72.1 53.6 18.5 70.3 49.6 20.7
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07 &# 2 7] 69.5 (812) 52.0 (763) 17.5
07 & 3 ] 70.8 (703) 53.3 (683) 17.5
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06 & 10 *| 59.5 18.1 1.2 7.0 14.2 (802)
06 & 11 %] 54.4 20.1 2.0 5.6 17.9 (801)
06 & 12 k| 49.8 22.3 15 3.7 22.7 (777)
07 & 1 %] 49.7 22.0 1.9 35 22.9 (799)
07 & 2 %] 67.0 18.4 15 5.7 75 (814)
07 & 3 ] 64.5 21.9 3.2 2.7 7.8 (709)
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Frojbs
A7 7.6
TR 216
J_}E'IEV/%R 66.3
AL S 4.5
(B4 HD) (709)
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